9,041 runners took part in a 25 kilometer
marathon. 387 runners dropped out before the

finish. How many runners completed the
marathon?

1,500 balloons were used to decorate a hall for
a party. By midnight 608 balloons had popped.
How many balloons were left? %

A school purchased 678 black, 739 blue, and
400 red pens. How many pens did the school

purchase in all? /

On the weekend Lia drank 5,000 milliliters of
water. If she drank 2,375 milliliters on :
Saturday, how much water did she drink ==
oh Sunday? |
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Sam subtracted 31,112 - 502 and said the
difference was 22,754. Laura did the same
problem and said the difference was 22,744.
Who is correct?

31,112 -502 = ?

Sam added 21,678 and 1,076 for a sum of
22,754. Laura added the same numbers and got
22,744. Who is correct?

21678 +1076 =2

Peter added 2,213 + 89 + 791 and got a sum
of 3,193. Is Peter correct? Find the sum and
show your work.

f\.
9 9

Y

What is the missing humber in this problem?
+ 32,307 = 47,563

Explain how you know.
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What is the missing humber in this problem?
15,308 + = 31,052

Explain how you know.

What is the missing humber in this problem?
11,378 + + 9,307 = 30,703

Explain how you know.

What is the missing humber in this problem?
- 29,307 = 41,363

Explain how you know.

What is the missing humber in this problem?
69,702 - = 57,063

Explain how you know.
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